SUMPOEEIESAII OIS A

feﬂ‘ ut’““”’a. I —
gy 0 CREEEAT 2T T AR e
SMTMIREEE (EPD) SR THEXASE]-14-8

IR

KANDA SQUARE GATE
https://ecoleaf-label.jo

#i=+4 PFU / PFU Limited RICOH
RICOH Image Scanner fi-8950

Fix&ES © JR-AI-23445E

BER{ ERES JR-AI-23445E
JERAPCRES PA-590000-AI-08
Hm1aHh
PCR% ERA L e (55 8 hiR)
BEXSREGE 2FH 2024%1H12H
m R CIFRfEIRA BRIISBE 20234118308
EARERNE, . TOE. A - MINEE RE - UYro)l RIEAR BRBARIE AT
REEES JV-AI-23445
AR 20285 11829H
HEODOBN, TEMLE - PCRLE1—-0DE}E
A5 : RICOH Image Scanner fi-8950 REHZE 20234 9H1H
RN S-NRAFvF (Rfse : 8) EIRXAE FER g EZ
SHEGRE : ME- AT 1504%/%) (300M/4)) (—HHEEAN Y AT I T ) R EHEEHANS)
BEARGHUREYAX : 304.8mmx431.8mm E=BIRIFE*
STEVERSRE : 50~600dpi(1dpil & (CERTETIAE) SEPIREES e mEF
%1200dpildRF v F— RS/ \— TRETTAE
AT ¢ CIS ISO14025(Cf > TeARBERUT — 5 DI U TAREE
XARB(EKEET T, CIEB m S8R

*2 2T AR Z T T BERANDIRIDHZE E. S AT LAREZITOITE
BEOERI &L,
BW\Wah %k
HRRSHPFU  AX=20 H—EX&YR- 25—
Email :  scanners@ml.ricoh.com Tel : 050-3786-0811
EikES ¢ JR-AI-23445E




TIY—J SUMPORIESANT OIS A
—BADEAY 2T T T IBE

FATMERIREE (EPD) RRPFHBRAGET-14-8
_ KANDA SQUARE GATE
TiRES ¢ JR-Al-23445E https://ecoleaf-label.jpo
|
0% 20% 40% 60% 80% 100%
SURZEE IPCC 2013 GWP 100a 380 | kg-CO2eq
[z 4e 2|4 0.26 | kg-SO2¢eq
BRHE 0.059 | kg-Sbeq
m DEHHEE QL " QFE
BDER-HFEE EOREE-YYAIIL
AER =<1y a5 OEMBEE QXE Qi |@EF - wISEE oEE - UYL
SEZE) IPCC 2013 GWP 100a | kg-CO2eq | 3.8E4+02 || 1.7E+02 | 1.7E+01 | 3.3E+01 | 1.6E+02 | 7.4E+00
B, kg-SO2eq | 2.6E-01 | 1.1E-01 | 1.2E-03 | 8.8E-02 | 4.5E-02 | 1.3E-02
SENE kg-Sbeq | 5.9E-02 | 4.7E-02 | 1.0E-04 | 1.4E-04 | 1.1E-02 | 3.1E-05
I5H :ivs - B (ERESD) =iy
IEFAETIREE R 2.1E+01 kg =38 9.82E+00 kg
BATREER 3.4E+01 kg SuUS 1.77E+00 kg
FILE=D 1.26E-03 kg
ZOMERE 4.34E-02 kg
TFSRF v 6.28E+00 kg
N 1.04E-01 kg
HS5X 1.04E-01 kg
- oK 2.75E-03 kg
FELEEPREMN 4.46E-01 kg

Tt 3.63E+00 kg




TJY—J SUMPORIESAII OIS A
—HEEAY RF T TIEEHEHE

Y A1{TMIRIBEES (EPD) BRBTHREXABET-14-8

=R - KANDA SQUARE GATE

BiRES | JR-AI-23445E https://ecoleaf-label.jo
OHEMREICEET DEMNEEHR

- BEEECAVSSFTUACSVWTERUZRA - S>— Ty RAFvF
- "moftmirsk  KE
- [ERRBEDBETE
— 1BFEMER : 20,000#%/8 (5 XF+>/H)
-1KAOHE@B . 208/8
- 1FDOBEA% . 2408/4
—IBEERMAR . 55
—#AF+ >#5 : 6000[E (24,000,0004%) /5
- EHRE DB (FIRIAR) D&fEIEET ELTOEE A,

©-1.FCDthDEIEEIEEEH
cERIRILF—RY—TOTSASEEGLUTVNEYS, FEFNROHSIESICEMLL TWVET,

QERULEZRT—IDERS
- IDEA v2.1.3 ZER L THE DBRT —IRVILCAT—4F v 1.10ZERL TV ET,

®fF%

0 —FHEEDAE(FE. PCREKXUETE - EERBEESRBLTIZE,
OLER(CDVTI(F. BE - EERECHRESNIEERSFZ/IZUIZHZEICUMROSNEE A,
(Z885EURL : https://ecoleaf-label.jp/regulation/)
EixEs . JR-AI-23445E



